F.Ball Screw Support Unit




BK Series (Fixed End)

M )
& c 4-gX drill through
; ‘ @Y counter bore depthZ
i
T

H1
N

e

IR "a"'"'@

i 4-gP

BK10 | 10 | 60 | 46 | 34 | 13 | 6 | 30 [325| 22 | 39
BK12 | 12 | 60 | 46 | 35 | 13 | 6 | 30 [325| 25 | 43
BK15 | 15 | 70 | 54 | 40 | 15 | 6 | 35 | 38 | 28 | 48
BK17 | 17 | 8 | 68 | 50 | 19 | 8 | 43 | 55 | 39 | 64
BK20 | 20 | 8 | 70 | 52 | 19 | 8 | 44 | 50 | 34 | 60

. . .. AR

Suggest Dimension of End Machining e

N
J
= View AA
R1 M g|R2MAX) A
£ ] N/ o
8, L / ©
c1/| c2/] s| c3 '
F | E G|H
—A
BK-10 @12, @14, @15 10 8 39 15 | M10x1
BK-12 @14, @15, @16, 318 12 10 39 15 | M12x1
BK-15 @18, @20 15 12 40 20 | M15x1
BK-17 @20, @25 17 15 53 23 | M17x1
BK-20 @25, @28 20 17 53 25 | M20x1

120 I @rece



O Housing 1PCS
® Bearing 1 SET
® Lid 1PCS
@ Spacer 2 PCS
® Seal 2PCS
® Lock Nut 1PCS
@ Screw with Washer | 1 PCS
Unit:mm
25 | 5 | 29| 5 | 16 | 55| 15 | M3 [ 6.6 | 11 | 5 |7000ATYDFC8P5
25 | 5 | 29| 5 | 19 | 55| 18 | M3 | 6.6 | 11 | 1.5 | 7001ATYDFC8P5
27 | 6 |32 | 6 | 22 |55| 18 | M3 | 66 | 11 | 6.5 |7002ATYDFC8P5
35 | 9 |44 | 7 | 24 |66 | 28 | M4 14 | 8.5 |7203ATYDFC8P5
35 | 8 |43 | 8 | 30 |66 |22 | M4 | 9 | 14 | 8.5 |7004ATYDFC8P5
Tolerance
H1 Type H2 Type ) " 2
-15
‘ ) e 10 18 12
M p R P 18 24 3
-21
16|10 5 | 7 | 05|05 (05|03 |06 |2x12] 11 |75/ 11 [BK-10
14| 13| 6 | 8 | 05|05 (05|03 |06 |3x1.8] 12 |95/ 12 [BK-12
12| 16| 6 | 9 | 05|05 (05| 03 | 06 |4x25| 16 |11.3| 16 [BK-15
17| 18| 7 | 10| 05|05 [ 05 | 0.3 | 0.6 |5x3.0] 21 [14.3| 21 [BK-17
15|21 8 | 1105|0505 | 05|06 |5%3.0] 21 |16 |21 BK-20

@roco’

Linear TechCo., Ltd.

121



BK Series (Fixed End)

4-@X drill through
@Y counter bore depthZ

BK-25 25 106 | 85 64 22 10 03] 70 48 80
BK-30 30 128 | 102 | 76 23 1 64 78 51 89
BK-35 35 140 | 114 88 26 12 70 78 52 96
BK-40 40 160 | 130 | 100 | 33 14 80 90 60 110

. . .. 7N
Suggest Dimension of End Machining e
N
7
=z View A-A
R1 M ol R2( -—A
l,&
& ] N/ o
S e VN / 8
c1/| c2/ s| c3
FI  E G|H
—A
BK-25 @32, @36 25 20 65 30 |M25x15
BK-30 @36, @40 30 25 72 38 |M30x1.5
BK-35 @40, @45, @50 35 30 83 45 |M35x1.5
BK-40 @50, @55 40 35 98 50 |M40x1.5

122 I @rece



O Housing 1PCS
® Bearing 1 SET
® Lid 1PCS
@ Spacer 2 PCS
® Seal 2PCS
® Lock Nut 1PCS
@ Screw with Washer | 1 PCS
Unit:mm
42 12 54 9 55 9 33 | M5 | 11 | 175 | 11 | 7205ATYDFC8P5
45 14 61 9 40 11 33 | M6 | 14 20 13 | 7206ATYDFC8P5
50 14 67 12 50 11 35 | M8 | 14 20 13 | 7207ATYDFC8P5
61 18 76 15 50 14 37 | M8 | 18 26 | 175 | 7208ATYDFC8P5
Tolerance
Above | Under h
H1 Type H2 Type
-3
18 | 30 21
D ' /

T = 30 | 50 4

R P -25
18 | 27|10 |13 | 05| 07 [ 10 | 05 | 0.6 [6%3.5 25 19 | 25 [BK-25
2513210 (15| 05| 07|10 | 05 | 1.0 |8x4.0 32 |23.5] 32 |[BK-30
28 | 36 (12 (15 (05| 10|10 | 05 | 1.0 |8x4.0| 40 |28.5] 40 (BK-35
35| 4114 (19 | 05| 10|10 | 05 | 1.0 |10x5.0 45 33 | 45 |BK-40

@

TOCO’

Linear TechCo., Ltd.

123



BF Series (Simple End) 20X dril through

@Y counter bore depthZ

b od
I
L N\A4=eP
ModelNo. | D1 A B c - H1 i H
; +0.02 +0.02
BF-10 8 60 46 34 30 325 22 39
BF-12 10 60 46 35 30 325 25 43
BF-15 15 70 54 40 35 38 28 48
BF-17 17 36 68 50 43 55 39 64
BF-20 20 88 70 52 44 50 34 60
BF-25 25 106 85 64 53 70 48 80
BF-30 30 128 102 76 64 78 51 89
BF-35 35 140 14 88 70 79 52 96
BF-40 40 160 130 100 30 90 60 110
Suggest Dimension of End Machining
—
4 Ay 1\ A A Ao
o%uﬁc '%‘N‘M‘ UM A ‘ | / ,,
[
I : I
L

Model No. Diameter D1 =

BF-10 @12, @14, D15 8 10

BF-12 @14, @15, D16 10 11

BF-15 @18, @20 15 13

BF-17 @20, @25 17 16

BF-20 @25, @28 20 16

BF-25 @32, @36 25 20

BF-30 @36, @40 30 21

BF-35 @40, @45, @50 35 22

BF-40 @50, @55 40 23

124 I @rocoy



Code ltems pcs
(1) | Housing | 1PCS
® Bearing | 1PCS
® | CRing | 1PCS
Unit:mm
L N P X Y z C-Ring ki
20 18 515 6.6 1" C8 608727
20 18 55 6.6 11 15 C10 6000Z2Z
20 18 515 6.6 1" 685 @S] 600277
23 28 6.6 9 14 85 Cc17 620322
26 22 6.6 9 14 815 Cc20 600477
30 33 9 11 17.5 11 C25 6205727
& 33 1" 14 20 18 C30 6206ZZ
32 35 11 14 20 13 C35 62077272
37 31/ 14 18 26 178 C40 6208727
Tolerance
Dimension (mm) T 8_001
Above | Under h
6 10 é
10 18 _1'2
-3
18 30 21
-4
30 50 P
C-Ring
A B C Model BF
7.6 0.9 7.9 BF-10
9.6 1.15 9.15 BF-12
14.3 1.1% 10.15 BF-15
16.2 1.15 13.15 BF-17
19.0 35 18805 BF-20
239 1.35 16.35 BF-25
28.6 1.79 17745 BF-30
33.0 1.75 18.75 BF-35
38.0 1.95 19.95 BF-40

@roco’ | 125

Linear TechCo., Ltd.



EK Series (Fixed End)

— =

2-@X drill through
@Y counter bore depthZ

K

W

T _T—-—nj /C§ IH-E ' lem
4T XY T
i | &
B s i ©/L1
A

EK-6 42 30 18 21 20 13

EK-8 8 52 38 25 26 26 17

EK-10 10 70 52 36 35 24 25

EK-12 12 70 52 36 35 24 25

EK-15 15 80 60 41 40 25 30

Suggest Dimension of End Machining ,

N

N J

a View A-A
R1 M SR2(MAX)  ——A

L[N/
c/| 2/ g c3

FI E G|H
—-—A
EK-6 @6, 78 6 30 8 [M6x0.75
EK-8 @10, @12 8 35 9 | mex1
EK-10 @12, @14, @15 10 36 15 | M10x1
EK-12 @14, @15, @16 12 10 36 15 | M12x1
EK-15 @18, @20 15 2 49 20 | M15x1

Linear TechCo., Ltd.

126 I @rocor



L2

L3
S N |M @) Housing 1PCS
2-OX A
® drill through ® Bearing 1S8ET
® Lid 1PCS
[T € m @ Spacer 2PCS
@ k P
| H ® Seal 2 PCS
— ® Lock Nut 1PCS
A @ Screw with Washer | 1 PCS
S Unit:mm
25 | 20 | 55 | 22 [ 35 | M3 | 55 | 95 | 11 12 | 706ATYDFC7P5
32 | 23 7 26 4 M3 | 66 | 11 12 14 | 708ATYDFC8P5
43 | 24 6 |295]| 6 M3 9 . . 16 | 7000ATYDFC8P5
43 | 24 6 |295]| 6 M3 9 - - 19 | 7001ATYDFC8P5
49 | 25 6 36 5 M3 | 11 . . 22 | 7002ATYDFC8P5
Tolerance
H1 Type H2 Type Above | Under h
=
6 10

ﬁ ‘ e —ﬁ— -15

7 /_j = ' 10 | 18 3

(I S m— ] -18

M R p =

P R 18 24 21
10| 5|4 |4 |03|03|03|03]|06] - - [37| 6 |15|EK®6
10 515[03[03|03|03]|06] - - |56| 7 |15|EK=S8
11|10 5|7 |05 |05|05]| 03|06 |2x12| 11 |75]| 11 |-05/EK-10
1|13 6 | 8 |05|05|05]| 03|06 |3x1.8] 12 |95]| 12 |-05/EK-12
13|16 | 6 | 9 | 05| 05| 05| 03 | 06 |4x25| 16 |11.3| 16 |5.0 |[EK-15

@roco

127



EK Series (Fixed End)

4-@X drill through
@Y counter bore depthZ

EK-20S
EK-20 20 95 75 56 475 25 30
EK-25 25 105 85 66 525 25 35
Suggest Dimension of End Machining ,
N
L I
new— Rt w SREMAX) e
, x EORE Nl —"
-l E
k= 9,
E ct/| c2/] g c3
FI E G|H
—A
EK-20 @25, @28, @32 20 17 | 64 25 | M20x1
EK-25 @32, @36 25 | 20 | 65 | 30 |wm25x15

128 | @TOLY



(@ 4-@X drill through Lq
\@&W /_ e
@_

JL

H1

2-7 8 drill through

EK-20 EK-25
Unit:mm
- - 58 | 42 | 10 | 50 | 10 | M4 | 11 - - 30 | 7204ATYDFC8P5
9 30 | 68 | 48 | 13 | 60 | 14 | M5 | 11 - - 35 | 7205ATYDFC8P5
Tolerance
H1 Type H2 Type Above | Under h

-2

ﬁﬁ () =] j 160 :: =
M ;—/ D ----- - -18

P 18 24 2?

171218 (11| 05|05 |05 |05 |06 |5x3.0| 21 16 | 21 | 1.0 |EK-20
18 (27 (10 (13| 05| 07 | 1.0 | 0.5 [ 06 |6%x3.5| 25 19| 25 | 1.0 |EK-25

@roco’ | 120

Linear TechCo., Ltd.



EF Series (Simple End)

2-@X drill through

D)
\S=/

j
<l T
E |
I —
A
EF10~15, EF20~25

EF-6 6 42 30 18 24l 20) 13
EF-8 6 52 38 25 26 26 17
EF-10 8 70 52 36 35 24 25
EF-12 10 70 52 36 35 24 25
EF-15 19 80 60 41 40 25 30
EF-20 20 95 75 56 475 25 30
EF-25 2.5) 105 85 66 5225 29 35

Suggest Dimension of End Machining

A LA
AR I -

oD1

EF-6 06, @8 6 9
EF-8 @10, @12

EF-10 012, 914, @15 8 10
EF-12 @14, @15, B16 10 11
EF-15 @18, @20 15 13
EF-20 @25, @28 20 19
EF-25 @32, 336 25 20

130 | @TOoco’

Linear TechCo., Ltd.



c @)
| | 2-@X drill through
@Y counter bore depthZ
[ ﬁ@ | () | Housing | 1PCS
i} ] @2 W&/ [ ® Bearing | 1PCS
. [ H O (3 | cRing | 1PCS
i UL
| C +# L##
B
A
EF6~8 Unit:mm
25 12 5.5 95 11 C6 606Z2Z
32 14 6.6 1 12 C6 606ZZ
43 20 9 - - C8 60822
43 20 9 - - C10 6000ZZ
49 20 9 - - C15 600227
58 26 1 - - C20 620427
68 30 - {1 - C25 620527
Tolerance
E
=
é Above | Under h
— s T 6 10 X
o I 2 12
< R
10 18
gro1a | / -18
) }"* o’ 18 | 24 3
-21

5.7 0.8 6.8 EF-6
5.7 0.8 6.8 EF-8
7.6 0.9 7.9 EF-10
9.6 1.15 9.15 EF-12
143 1.15 10.15 EF-15
19 1.35 15.35 EF-20
239 1.35 16.35 EF-25
@roco

Linear TechCo., Ltd.

131



FK Series (Fixed End)

L L1
F_H 4-@X drill through
@Y counter bore depthZ
5 G< 2 @ 73@
T
=
e L.
O OEATT
% e —
A | (P W —
g 3 g
D)=t
-
unil
o
T | E
Method A

FK-8 8 43 14 23 26 28 9 35
Suggest Dimension of End Machining o~
= A S (5772
= s AR
: c/|c2/] s cs
i B F I € GlH

FK-8 @10, @12 8 6 85 e M8x1

132 | @Troco’

Linear TechCo., Ltd.



H, F
| o8 -0.007 O) Housing 1 PCS
BE ‘ -0.020 ® Bearing 1 SET
Hg} — ® Lid 1 PCS
T ® Spacer 2 PCS
i ® Seal 2 PCS
|| ® Lock Nut 1 PCS
@ Screw with Washer | 1 PCS

Method B

Unit:mm

M3 35 7 4 8 5 34 | 65 4 14 708ATYDFC8P5

Tolerance
Above | Under h
i -2
6 10 15
R

15 0.5 0.5 0.5 0.3 0.6 8.5 7 1% 05 | FK-8

@roco’ | 133

Linear TechCo., Ltd.



FK Series (Fixed End)

L L1
F_H 4-@X drill through
[%)8 ter bore depthZ
@2 % a‘i EP/® counter bore dept
. 4] s
N OO ]| . / i
g g - 138 §
T | E i
Method A
Model No. D1 A = L E Dg6 H PCD
FK-10 10 52, 17 27 29.5 34 10 42
FK-12 12 54 17 27 29.5 36 10 44
FK-15 1® 63 17 32 36 40 1% 50
FK-20 20 85 30 52 50 57 22 70
FK-25 2 98 30 o1 60 63 27 80
FK-30 30 117 32 62 61 75 30 95
Suggest Dimension of End Machining .y
@
R M S|R2MAX)
s - v
2 A s
ﬂ/ g/ s c3 /| ,,,,,/
Fl E Gl H
Model No. Diameter D1 B E = M
FK-10 @12, @14, @15 10 8 36 {5 M10x1
FK-12 @14, @15, 316 12 10 36 15 M12x1
FK-15 @18, @20 1® 12 49 20 M15x1
FK-20 @25, 328 20 17 64 25 M20x1
FK-25 @32, 336 2.5 20 76 30 |[M25x1.5
FK-30 @40, 350 30 25 72 38 |M30x1.5

134 I @rocoy



L L2
H, F D g6 Code ltems pcs
‘ 34 Byt O Housing 1PCS
- 0.
mE 36 8822 ® Bearing 1 SET
= 7 H] -0.
sanss =l 70009 ® Lid 1PCS
== -0.025
= 3 o 0010 @ Spacer 2PCS
H 0.029 ® Seal 2PCs
12 E e -0.029 ® Lock Nut 1PCS
75 88;8 @ Screw with Washer | 1 PCS
Method B
Unit:mm
M Bluwu | m™|L| || x|y |z]|T Bﬁgﬂg?
M3 | 42 | 75| 5 | 85| 6 | 45 4 16 |7000ATYDFC8P5
M3 | 44 | 75| 5 | 85| 6 | 45 4 19 |7001ATYDFC8P5
M3 | 52 | 10 6 12 8 | 55| 95| 6 22 |7002ATYDFC8P5
M4 | 68 8 10 | 12 | 14 | 66 | 1 10 | 30 |7204ATYDFCB8P5
M5 | 79 | 13 | 10 | 20 | 17 9 15 | 13 | 35 |7205ATYDFC8P5
M6 | 93 | 14 | 12 | 17 | 18 | 11 | 175 | 15 | 40 |7206ATYDFC8P5
Tolerance
. . h
H1 Type H2 Type Dimension (mm) | ynit 0.001
Above | Under h
2
6 10 15
-3
| 10 18 18
S -3
18 30 .
: Circul
=l Chamfering il H1 H2 W1 | wa [Model
cCi1]c2[C3| R1 JR2| N [P |R]| P FK
1110 5 05/05|05| 03 | 06 [2x1.2| 11 [75| 11 | 05| 0.5 |FK-10
11113 | 6 05/05|05| 03 | 06 [3x1.8| 12 [95| 12 | 05|05 |FK-12
1316 | 6 05/05|05| 03 | 06 [4x25|16 (116 16 | 4 | 2 |FK-15
171218 |11|/05|05( 05| 05 | 0.6 |5x3.0( 21 [ 16| 21 -3 |FK-20
20271013/ 05|05 05| 05 | 06 [6x35|25 (19|25 | 5 | -2 |FK-25
2532|1015/ 05| 05|05| 05 | 0.6 | 8x4 | 32 235/ 32 | -3 | -6 |FK-30

‘@Lmear TechCo., Ltd.

135



FF Series (Simple End)

O

3

4-@X drill through
@Y counter bore depthZ

oDg6
ey
BT

2PCD

FF-6 6 10 6 4 22 36
FF-10 8 12 7 5 28 43
FIF=12 10 15 7 8 34 52
FF-15 15 17 9 8 40 63
FF-20 20 20 11 9 57 85
FF-25 25 24 14 10 63 98
FF-30 30 27 18 9 75 117

Suggest Dimension of End Machining

136

FF-6 @10, @12 9
FF-10 @12, @14, @15 10
FIE=12 @14, @15, @16 10 11
FF-15 @18, @20 15 13
FF-20 @25, @28 20 19
FF-25 @32, @36 25 20
FF-30 @40, @50 30 21

@roco’

Linear TechCo., Ltd.




D g6 Code ltems pcs
22 B (1 | Housing | 1PCS
28 Y (@ | Bearing | 1PCS
-0.009 -Rj
34 S ® | C-Ring | 1PCS
-0.009
e
N
63 0.029
-0.010
75 0.029
Unit:mm
PCD B X Y z CRing | Bearng
28 28 34 6.5 4 c6 60627
35 35 34 6.5 4 c8 60822
42 42 45 8 4 c10 6000ZZ
50 52 55 9.5 55 c15 600227
70 68 6.6 11 6.5 C20 620427
80 79 9 14 8.5 c25 620527
95 93 11 175 11 C30 620627
Tolerance

Dimension (mm) i 8_001

E
. Above | Under h
3 6 10 2
. -15

S 10 18 _12

- - 3

“ ’P:; o 18 | 24 o
C-Ring Model

A B © FF

57 0.8 6.8 FF-6
76 09 79 FF-10
96 115 9.15 FF-12
14.3 1.15 10.15 FF-15
19 135 1535 FF-20
239 1.35 16.35 FF-25
286 1.75 17.75 FF-30

@T0co" | 137



138 | @TOCOo’

ear TechCo., Ltd.



